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1.TIn1aTvillini5t4'41TCliniini91 3 viAinlovirlmluoiatmu liav1.1t1-)eTtenct4n1 ABC win 
ilEnaltvY x= (A+1)*(B+1)/(c+1) Lot t = [0,0.01,0.02, 	20] LLA-) 
1.1,11 	 V = sin(t/10) 

W = V*x; 

MATLABTM  L1N@4r11.ncu x,t,V, W Lot ylonTriAllotiV;ILLnuALtu W tot Lit- u 
lauvriti t LLatliil6net_47firificuuntgluatunuctati4a "WORK" lot "time" orIllgrIPU (2 

Mt111.1U) 

2. maiiilimmflw@i Salee i"ui@kiavinnqTtivtai'nalmmitii461,1q`iPsml Floating-point 16 
'1.11:i 

lEft 	czb r-s 4a,  r-rt 
(S bit)  
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Tr 	c) Iry 
(1c bit) 
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2.1li:iititalt■lar5/nim (Flowchart) aoln5turnifr14frtirmarvi1ai1oPf11niml1teotlyuLaT 
Floating-point 16 'Om 	*'1/14 ( 2 Mr.M.A1) 
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2.2 .141m7iiinb-rtimehajaij-Dvo 4.86971628 u, 5.3542319 li,Laolltinlwirrum@Eill 

ar,L&A.nlmmirnmoi Salee at emAivig.nli,a/AvtiallActiluvuLmi Floating-point 16 ii191 

ii11$1114 (3.5 mavuti) 

2.3 linnillLmamiAjnilancu-)nriu 166eiol-T8n14-rumilatuoolNaAdythl,i.micuu6ali 16 'rim( 

0.5 mtwuctil) 
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2.4 fifie.061Aiati 2.3 16Lool)5n1511.4516aTvwicris2,,N1n9@a57im@i Salee (3 fitl,1,1,11.1) 
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3. 16001n-154`itna&iqvtiihIgLillLmi dy(x)/dx 11@1 y(x) = 3x3-7x2-x/2+3 il x = 1.7 vu 

5:li1ru6aT Floating-point 64 erivi ion1qvuolvig@uardfl'inaLlitiElqwm4rimuu5liVii@unriq 
1x10

5 
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67.2 	 5vTo 	  

4.lctinctiticiii@VisinYrolamm5 f(x) = -x2+2x+9 alio/ill@ f15114 g(x) = -x3+3x2-8x+2 11.16d'Afl 
x iiPil5t1, 11 1 gl 3 TOE116hrUcUFloating-point i1011,latfiliVilallillg@SatHT11161ahlelW1/1 
P1101VU5llilli1:1@8fl'il 1x10 3  (7 PIL'6L1.111) 
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